

Cost = \$25
Snacks Included
Prize(s) paid out in gift

Prize(s) paid out in gift cards
Thu, Jan 30 @ EYCC
6:45 pm Doors open
7:00 pm Games begin
11:00(ish) pm Finish

REGISTER

Structure & Rules

This document was prepared by Mike Doig in consultation with the Mens Committee. Any interpretation of the contents of this document will be made by Mike Doig. If something is missing or incomplete, please bring it to Mike's attention (mike.doig.eycc@gmail.com) so it can be addressed.

Before the event:

- Players will register online at <u>https://eastyorkcurling.ca/index.php/component/eventbooking/club-event/eycc-poker-night-jan-</u>
 30th
- 2. Anyone can register club member or not.
- 3. Registration will open with 48 spots (6 tables) and a waitlist of 24 spots (3 additional tables)
- 4. Registration will cost \$25. \$10 goes towards food. \$15 goes towards the prize fund. The prize fund has to cover the cost of decks of cards, and chip rental (\$8/set at https://meadowvalepartvrentals.com/collection/games/).
- 5. Once registration has closed and we know how many players we will have, the following website will be used to set the blind schedule:

https://pokersoup.com/tool/blindStructureCalculator?playerCount=48&tournamentLengthHours=3.5&smallestChip=1&startingChips=40&roundLength=15&smallBlind=1&rebuys=&rebuys=true&rebuyCount=12&rebuyChipCount=40&_addOns=&addOnCount=6&addOnChipCount=5000&_antes=&antes=true&showAdv=true&submitInputs=+Calculate+Blinds+

Using the following options:

Number of players = final number of registrants

Tournament length: 3.5 hours

Smallest chip: 1 Starting chips: 40 Round length: 15 mins Starting small blind: 1

Rebuys: yes, expected 2 per final number of tables, 40 chip count

Antes: yes

6. The mens committee will borrow or rent 1 set of poker chips per table. If borrowed, the lender should be aware that, although every effort will be made to return the exact chips borrowed, this might not be possible due to mixing during the event.

Day of the event

 Tables are to be set up in advance. This means each seat will have a stack of 40 chips placed at it, along with a seat number. A corresponding number will be placed in a bin for when players arrive to draw from.

At the event

- 8. Players are to arrive at 6:45 pm and be seated by 7:00 pm. This is tight. Any delay simply delays the end of the tournament.
- 9. We will need 1 player per table to act as table lead. This person will coordinate the game, and potentially deal if players don't feel comfortable doing so. A designated dealer and passing the deal chip is allowed.
- 10. Upon arrival, players will choose a seat number from a bin and make their way there.
- 11. Regular rules of Texas Hold 'em will be followed.
- 12. Late arrivals will have their hands folded. Necessary blinds and antes will be added to the pot from their chips. After 30 minutes, any of their remaining chips will be returned to the case.

- 13. A timer will be on the tv showing the time left for the round, and what the current blinds & antes are.
- 14. Players can rebuy 40 chips for \$20 as many times as they like in the first 30 minutes. In order to rebuy chips, they can only have a max 4 chips left in front of them. **They cannot rebuy during a deal they must wait until that hand is finished.**
- 15. Tables will be collapsed as soon as possible, while not exceeding 8 players per newly formed tables. Players may be moved at any time to balance tables.
- 16. The winner's pot will be paid out approximately according to the Payouts % schedule shown below. The actual amount will depend on how many rebuys occurred. The Payouts \$ schedule shows the expected minimum prizes. All winnings will be paid in gift cards, which will be ordered after the conclusion of the tournament, and the winners will have input regarding which gift cards they win.

Base pot (no rebuys)								
				Estimated Payouts \$			Payouts % schedule	
# of players	Original buy	Pot	Winner	Second	Third	Winner	Second	Third
24	\$15	\$360	\$360	Occoria	Timu	100	0	0
25	\$15	\$375	\$375			100	0	0
26	\$15	\$390	\$390			100	0	0
27	\$15	\$405	\$405			100	0	0
28	\$15	\$420	\$420			100	0	0
29	\$15	\$435	\$435			100	0	0
30	\$15	\$450	\$450			100	0	0
31	\$15	\$465	\$465			100	0	0
32	\$15	\$480	\$480			100	0	0
33	\$15	\$495	\$495			100	0	0
34	\$15	\$510	\$510			100	0	0
35	\$15	\$525	\$525			100	0	0
36	\$15	\$540	\$540			100	0	0
37	\$15	\$555	\$555			100	0	0
38	\$15	\$570	\$570			100	0	0
39	\$15	\$585	\$585			100	0	0
40	\$15	\$600	\$600			100	0	0
41	\$15	\$615	\$605	\$10		98	2	0
42	\$15	\$630	\$610	\$20		97	3	0
43	\$15	\$645	\$615	\$30		95	5	0
44	\$15	\$660	\$620	\$40		94	6	0
45	\$15	\$675	\$625	\$50		93	7	0
46	\$15	\$690	\$630	\$60		91	9	0

47	\$15	\$705	\$635	\$70		90	10	0
48	\$15	\$720	\$640	\$80		89	11	0
49	\$15	\$735	\$645	\$90		88	12	0
50	\$15	\$750	\$650	\$100		87	13	0
51	\$15	\$765	\$655	\$110		86	14	0
52	\$15	\$780	\$660	\$120		85	15	0
53	\$15	\$795	\$665	\$130		84	16	0
54	\$15	\$810	\$670	\$140		83	17	0
55	\$15	\$825	\$675	\$150		82	18	0
56	\$15	\$840	\$680	\$155	\$5.00	81	18	1
57	\$15	\$855	\$685	\$160	\$10.00	80	19	1
58	\$15	\$870	\$690	\$165	\$15.00	79	19	2
59	\$15	\$885	\$695	\$170	\$20.00	79	19	2
60	\$15	\$900	\$700	\$175	\$25.00	78	19	3
61	\$15	\$915	\$705	\$180	\$30.00	77	20	3
62	\$15	\$930	\$710	\$185	\$35.00	76	20	4
63	\$15	\$945	\$715	\$190	\$40.00	76	20	4
64	\$15	\$960	\$720	\$195	\$45.00	75	20	5
65	\$15	\$975	\$725	\$200	\$50.00	74	21	5
66	\$15	\$990	\$730	\$205	\$55.00	74	21	6
67	\$15	\$1,005	\$735	\$210	\$60.00	73	21	6
68	\$15	\$1,020	\$740	\$215	\$65.00	73	21	6
69	\$15	\$1,035	\$745	\$220	\$70.00	72	21	7
70	\$15	\$1,050	\$750	\$225	\$75.00	71	21	7
71	\$15	\$1,065	\$755	\$230	\$80.00	71	22	8
72	\$15	\$1,080	\$760	\$235	\$85.00	70	22	8